Hydraulics 0-Rings
Hose Accessories

41 711509 - 0-Ring for SAE fittings (05 end configuration)

Part number
711509-1 8.92 1.83 7/16-20
711509-2 10.52 1.83 1/2-20
711509-3 11.89 1.98 9/16-18
711509-4 16.36 2.21 3/4-16
711509-5 19.18 2.45 7/8-14
711509-6 23.47 2.95 11/16-12
711509-7 29.74 2.95 15/16-12
61z 711509-8 37.47 3.00 15/8-12

2-0 - 0-Ring for ORFS male (JM end configuration)

Part number

2-011N552-90 7.65 1.78 9/16-18
2-012N552-90 9.25 1.78 11/16-16
2-014N552-90 12.42 1.78 13/16-16
2-016N552-90 15.60 1.78 1-14
2-018N552-90 18.77 1.78 13/16-12
2-021N552-90 23.52 1.78 17/16-12
2-025N552-90 29.87 1.78 111/16-12

61 Parker
Diect Lk

EARG/C9RG/VURG/VERG - 0-Ring for BSPP fittings

Part number

EARG-4 6.0 1.0 1/4x19
C9RG-10 8.0 15 3/8x19
VURG-4 12.0 15 1/2x14
EARG-10 13.1 16 5/8x14
VERG-14 17.0 15 3/4x14
VERG-19 21.0 15 1x11
EARG-20 29.5 1.5 11/8x11

61 Parker
DrectLi

N\ Apex Fluid Power Ltd.

198 Phone: 01228 511157 www.apexfluid.co.uk  Catalogue CORP0O1/UK



Hydraulics 0-Rings
Hose Accessories

2-2 - 0-Ring for SAE flanges

Inside Diameter Cross section Flange size

mm mm inch
2-210N552-90 18.64 3.53 1/2
2-214N552-90 24.99 3.53 3/4
2-219N552-90 32.92 3.53 1
2-222N552-90 37.69 3.53 11/4
2-225N552-90 47.22 3.53 11/2
2-228N552-90 56.74 3.53 2

61
DreciLink

G - 0-Ring for DIN female swivel hose-end fittings

Inside Diameter Cross section Thread
mm mm Heavy series Light series

CARG-6 45 1.5 M14x1.5 M12x1.5
C9RG-8 6.5 1.5 M16x1.5 M14x1.5
C9RG-10 8.0 1.5 M18x1.5 M16x1.5
C9RG-12 10.0 1.5 M20x1.5 M18x1.5
C9RG-14 11.0 2.0 M22x1.5
CARG-15 12.0 2.0 M22x1.5
C9RG-16 13.0 2.0 M24x1.5

615 CARG-18 15.0 2.0 M26x1.5
C9RG-20 16.3 2.4 M30x2
CARG-22 20.0 2,0 M30x2
C9RG-25 20.3 2.4 M36x2
CARG-28 26.0 2.0 M36x2
C9RG-30 25.3 2.4 M42x2
CARG-35 32,0 25 M45x2
C9RG-38 33.0 25 M52x2
CARG-42 37.7 26 M52x2

_/\.. Apex Fluid Power Ltd.

Catalogue CORPOO1/UK Phone: 01228 511157 www.apexfluid.co.uk 199



Hydraulics
Hydraulic Quick Couplings

For your safety!

Under certain circumstances, quick couplings can be subjected to extreme loadings such
as vibration and uncontrolled pressure peaks.

Only by using genuine Parker components and following Parker assembly instructions can
you be assured of the reliability and safety of the products and their conformity to the
applicable standards.

Failure to follow this rule can adversely affect the functional safety and reliability of
products, cause personal injury, property damage, and result in loss of your guarantee
rights.

Subiject to alteration.

For your safety, see safety guide pages 12-12 in our main catalogue CAT/3800/UK.
Available on request.

N\ Apex Fluid Power Ltd.

200 Phone: 01228 511157 www.apexfluid.co.uk  Catalogue CORPOO1/UK



